Unit 6 Review - Measurement Relationships

Name: Class:
1.) The positions of the water fountain, the picnic table and the swings at a local park are shown below. Find the
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distance between the water fountain and the swings to the nearest tenth of a meter. bl
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2.) Examine the tent. What is the surface area of the tent, including the ends and the floor?
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3.) Sweet Shapes is a company that makes chocolate. Each year, the company produces a
new can for its specialty chocolates. This year’s can is illustrated to the right. The top of
the can swings open for easy access.

Derek makes a sketch of the bottom of the can and records the measurements below.
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a.) Determine the area of the bottom of the can. Round to the nearest hundredth.
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b.) The can contains individually wrapped chocolates that each take up about 28 cm?
of space. Determine how many chocolates a container of height 15 cm will hold.

() Fied volume. of con: @ TN fotal volume by youme of oe

\z Ay - height condy & fnd how wary £
(3165409 \ :
= 4178\ o’ AR g ndes

c.) Next year, Sweet Shapes will produce a cylindrical can for the chocolates.
The can will be filled completely with 75 wrapped chocolates, each with a
volume of 19 cm?3. This can will also have a height of 15 cm. Determine the

radius of this can, to the nearest tenth. e
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& company that makes glass treesfor the holiday is shipping them in a box with 4 as shown below
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The dimensions of the box and the trees are given below. If the company wants to fill the remaining VZ(“\(\5) (/20)

space in the box with packing material what volume of packing material will they need ? 2
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5.) How much paint, in square inches, is needed to paint the outside of the mailbox?
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6.) A picture measures 60 cm by 30 cm. The mat around the picture is 6 cm wide. Find the area of the mat only.
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7.) A parallelogram has a base of 4x and sides of 2x + 1. The perimeter is 38 cm and the area is 60 cm?. Find the
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8.) The volume of a cube is 9,261cm3 A= = 5 n

a) What are the dimensions of the cube?

- ¥
300.(0\3‘? 2l om x 2 om X 2lom
Q=%

b) What is the surface area of the cube?
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d) How would the volume of square base pyramid with the same base and height compare to the cuhe above?
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9.) Suppose the radius of a sphere is quadrupled. What will happen to the surface area of the sphere? What will
happen to the volume of the sphere?
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10.)A triangular prism has a base that is a right triangl
of the prism is 10 cm.
a.) Predict how doubling the height affects the volume of the prism.
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b.) Check your prediction by calculating the volume of the original prism and the volume of the new prism.
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d.) Is this true in general? If so, summarize the result.
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